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ARG — 1A RE ( https://loj.ac/p/130 )

const 1nt MAX =
int val[4 * MAX];

void add(int idx, int 1, int r, int i, int v){
(1 r){ // we reach the leaf we should modify

vallidx] += v;

?

}

ihe, qiblel = WL 252 G5)) 2
Civ<="mid) add (2% = idx = IS ngd ey )
add(2 * idx + 2, mid + 1, r, 1, v);
val[idx] = val[2 * idx + 1] + val[2 * idx + 2];
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int query(inthidxintel,Nint s r int i, Nint ¥j )
Gloa= 1l <=1 {b) vallidxl;
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intimidy=ROINEr )R/ a0 -
query(idx = 2 + 1, 1, mid, i, j) + query(idx * 2 + 2, mid + 1, r, i, Jj);
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int32_t main(){
s (1l (s @il 22 il ev (]
(int 1 = 0; 1 < n; 1++)4
ilihe 0% (eallg =80 dE
add(o, 0, n - 1, i, x);

(g--){

1R EROPERE X RV G ([ B >>N0D E> > XSO
(Opr ) add( ’ , N - y X~ ’ Y);
cout << query(®, 0, n - 1, x - 1, y - 1) << endl;
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ARG — 1A RE ( https://loj.ac/p/130 )

#include
#define int long long int
namespace std;

const int MAX =
int val[z * MAX];

void add(int idx, int 1, int r, int i, int v){
QL == w)d I ach the leaf we shoul

val[idx] += v;

f
int mid = (L + r) / 2;
(i <= mid) add(2 * idx + 1, 1, mid, i, v);
add(2 * idx + 2, mid + 1, r, 1, v);
vall[idx] = val[2 = idx + 1] + val[2 % idx + 2];

}

int query(int idx, int 1, int r, int i, int j){
Lf(i <= 1 P &= ) vallidx];
(r < i 3 € 1) ;
int mid = (1L + r) / 2;
query(idx * 2 + 1, 1, mid, i, j) + query(idx *

}

int32_t main(){
int n, g; cin >> n >> q;
(int 1 = 0; 1 < n; i++){
int x; cin >> x;
add( ’ y N- ’ iy X)r

(gl
int opr, x, y; cin >> opr >> x >> y;
(opr == 1) add(@, 0, n - 1, x - 1, y);
cout << query(0, 0, n - 1, x - 1, y - 1) << endl;
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#include
namespace std;

const int MAX = + 5;

int val[4 * MAX];

void setv(int idx, int 1, int r, int i, int v){
(1L == &) we reach the leaf we should modif

vallidx] = v;

}
int mid = (L + r) / 2;
(i <= mid) setv(2 * idx + 1, 1, mid, i, v);
setv(2 % idx + 2, mid + 1, r, i, v);

, val[idx] = max(val[2 * idx + 1], val[2 * idx + 2]); E%/ﬂaﬁ%ji%% N

o queryCin 305, S0 1, o v ) R A B B LRk SRS 10 1B
Eone LD S e ) e e e S e 1. ios::sync_with_stdio(false) %€ Bg$&i|=] 1

int mid = (1L + r) / 2;

max(query(idx * 2 + 1, 1, mid, i, j), query(idx 2 + 2, mid + 1, r, i, 3)); 2. cin.tie(0) I cout.tie(0) ZRAEIRA E
3. AEH endl > X “\n” [J51E flush

}

int32_t main(){
ios::sync_with_stdio( )e
cin.tie(0); cout.tie(0);

i A r B o S FEIY 10 (B LAYABLLEE » 3525 zswu HYRESC
il M ( https://shorturl.at/ImGKT )

setv(@, 0, n - 1, i, x);
; :
int m; cin >> m;
()1
1 NIEEX,YERCTINESSEXE> SR
(x > y) swap(x, y);
cout << query(0, 0, n - 1,

}
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* We do not discuss this today

o ANEFBHIE/E L » 1] L2 https://cp.wiwiho.me/segment-tree/



o

H
N EE\ (https://zerojudge.tw/ShowProblem?problemid=f315 )

SREhE! -

RE

WMA—BRES 20 09685 » Heh 1|~ n WSERFHBFE 2 R -

IEZENESEMERES | BUIEPRE - BEENR | R8T -

LA 8[3, 1,2,1,3,2] A6 - 1KEZEER 0, 2 WEZEEER 1, SHEZEERS3 -

AHRESE U~ nNBEFHREEZE MEERNEFZEAERZERFEE)) - BHEZENEN - ERTAEZEB C++int LR -

AR BLR08 AEE
F—TE—EERH B 1~ 1 SERFEEEEN - LOIEEEPRE] © 250 MB
N AIEE %): 1.
BT 2 MERE - MEHESR - 18 1/ SARTH AW IR £0/(1956)1:08 5 <1
BIFRIRRR - ABS AIZE#1 (10%): 1.0s, <IM
i /A8 AIEER#2 (10%): 1.0s, <IM
AF BIEE#3 (10%): 1.0s , <1M
i) AR BB E#4 (10%): 1.0s, <1M
g AR BIZEE#5 (10%): 1.0s, <IM
¢ 20%:1 < n < 1000 AR BIZ2E#6 (10%): 1.0s , <10M
« 40%:1 < n < 40000 AR BIB2E#7 (10%): 1.0s , <10M
e 40%:1 < n < 100000 G BIEEL#8 (10%): 1.0s, <10M
B BIEEE#9 (10%): 1.0s, <10M
HHHA #1 HHIH L #1
3 4

312132



SRS P (e -
K EFZ 2 e T4 1 (https://zerojudge.tw/ShowProblem?problemid=f315 )

+ JUA
* SR EHEET TS — IR A 2
* BT 1B
+ ST R B 1
+ SHERBEF S - RHBS KRR ECE 2 - BRESD 1 (ARRES
LA N

* IEFIEZEL



H
REA (https://zerojudge.tw/ShowProblem?problemid=f315 )

SREZIE]

ffinclude
#define int long long int

namespace std;
const int MAX = = 50

int val[z =* * MAX], seen[MAX], first[MAX], last[MAX];

;E¥£:fz: . fff‘rthggggragj
void setv(int idx, int 1, int r, int i, int v){ / /E’\ ¢ 6\7%‘ ;F Iong Iong
(L == @)l
vall[idx] = v;
'
}
int mid = (L + r) / 2;
(i <= mid) setv(2 * idx + 1, 1, mid, i, v);
setv(2 * idx + 2, mid + 1, r, i, v);
val[idx] = val[2 * idx + 1] + val[2 * idx + 2];

int query(int idx, int 1, int r, int i, int j){
(1 == 1 P &= ) val[idx];
(r <1 j<1) g
int mid = (L + r) / 2;
query(idx * 2 + 1, 1, mid, i, j) + query(idx =*

}

int32_t main(){
ios::sync_with_stdio( )8
cin.tie(0); cout.tie(0);
int n; cin >> n;
int ans = 0;
(int i = 0; 1 < * n; i++){
AR g @im &2 %
(seen[x] == 0) first[x] = i, seen[x] = 1;
lesilx] = g

(int i = 1; 1 <= n; i++){
ans += query(0, 0, * n, first[i], last[i]);
setv(o, 0, * n, first[i], 1);
setv(0o, 0, * n, last[i], 1);
}

cout << ans << endl;
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